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cvV¨µg - 2019 
beg ‡kÖwY 

evsjv 1g cÎ-100  
 gvbe›Ub I cÖ‡kœi aviv 
SBA + Tutorial + Terminal Exam ( 15 + 10 + 100 )= 125-20%=100  
m„Rbkxj cÖkœ t 70 b¤^i  mgqt 2N›Uv 20 wgwbU 
M`¨ Ask †_‡K 4wU,  KweZv Ask †_‡K 3wU, mncvV (Dcb¨vm) Ask †_‡K 2wU Ges mncvV 
(bvUK) Ask †_‡K 2wU K‡i †gvU 11wU m„Rbkxj cÖkœ _vK‡e| M`¨ Ask †_‡K b~b¨Zg 2wU, 
KweZv Ask †_‡K b~b¨Zg 2wU, Dcb¨vm Ask †_‡K b~b¨Zg 1wU Ges bvUK Ask †_‡K 
b~b¨Zg 1wU cÖkœmn †gvU 7wU cÖ‡kœi DËi w`‡Z n‡e|    
eûwb©evPwb cÖkœ t 30b¤^i   
30wU eûwb©evPwb cÖkœ _vK‡e (M`¨ †_‡K 12wU ,c`¨ ‡_‡K 12wU Ges mncvV(Dcb¨vm) †_‡K 
3wU Ges mncvV (bvUK) †_‡K 3wU cÖkœ _vK‡e) me KqwU cÖ‡kœi DËi w`‡Z n‡e|                                              
me© †gvU (70+30) =100 

 
‡gav hvPvB cixÿv 

1| M`¨ t myfv, AfvMxi ¯^M©, eB cov      2| c`¨t e½evYx, K‡cZÿ b`, Rxeb m½xZ| 
3| mncvVt KvKZvozqv          

 
Aa©evwl©K cixÿv 

1| M`¨ t cwjømvwnZ¨, Avg-AvwUi †fcy, gvbyl gynv¤§` (m)|  2| c`¨t  SY©vi Mvb, gvbyl, 
RyZv-Avwe®‹vi|   3| mncvV t ewncxi               

 
evwl©K cixÿv 

1. M`¨t AfvMxi ¯^M©, gvbyl gynv¤§` (mvt), wbgMvQ, wkÿv I gbyl¨Z¡, GKvË‡ii w`b¸wj|  
2. c`¨t  gvbyl, cwjøRbbx, †Zvgv‡K cvIqvi Rb¨ †n ¯^vaxbZv, †mB w`b GB gvV| 
3. mncvV t KvKZvo–zqv  cybiv‡jvPbv      4| bvUK t ewncxi cybiv‡jvPbv              
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evsjv 2q cÎ- 100 
gvbe›Ub I cÖ‡kœi aviv 

SBA + Tutorial + Terminal Exam ( 15 + 10 + 100 )= 125-20%=100  
wba©vwiZ eB t 
1| evsjv e¨vKiY I wbwg©wZ - ‡evW eB 
2| m„Rbkxj e¨vKiY I wbwg©wZ- cvV¨ eB 
* iPbvgyjK cÖkœt 70 
1| mvivsk / mvigg© (2wU cÖkœ †_‡K 1wU)                                          10 X1=10 
2| fvem¤úªmviY ((2wU cÖkœ †_‡K 1wU)                                            10 X1=10 
3| Aby‡”Q`  (2wU cÖkœ †_‡K 1wU)                                                  10 X1=10 
4| cÎ wjL (2wU cÖkœ †_‡K 1wU)                                                   10 X1=10 
5| cÖwZ‡e`b cÖYqb t 2wU n‡Z 1wU                                                10 X1=10 
6| cÖeÜ iPbv (5 wUi g‡a¨ 1wU)                                                   20 X1=20 
7| eûwbev©Pwb cÖkœ t (30 wU †_‡K 30 wU)                                        30 X1=30 

                              ‡gav hvPvB cixÿv 
1|  e¨vKiY Ask: fvlv, evsjv fvlv, mvay fvlv, PwjZ fvlv, aŸwbZË¡, evsjv D”PviY I eY© 
cÖKiY, Y-Z¡ I l-Z¡ weavb, kã cÖKiY-wj½, ¯¿x cÖZ¨q Ges G‡`i e¨envi, c` cÖKiY c` I 
Zvi †kÖwY wefvM, Kvj, cyiæl I Kv‡ji wewkó cÖ‡qvM| 
2|  mvivsk t 4,5,12,14,24 bs| 
    mvigg© t  1,3,5,7,8,9,10 bs| 
3  fvem¤úªmviYt- 2,3,5,6,8,10 bs| 
4|  Aby‡”Q` iPbv t  1,3,4,6,13,17 bs|  
5|  cÎ/`iLv Í̄/gvbcÎ/cwÎKvq cÖKv‡ki Rb¨ wPwVt c„ôv- (425-430), (441-443)| 
6| cÖwZ‡e`b cÖYqb/ cÖwZ‡e`b iPbv Kit 1,3,5,7,13 bs|  
7| cÖeÜ iPbvt 1,4,14,32,43,49,54 bs|  

                           
Aa©evwl©K cixÿv 

1| e¨vKiY Askt   mwÜ, wØiæw³ kã, ePb, c`vwkÖZ wb‡`©kK, mgvm, wewfbœ cÖKvi evK¨ Ges 
G‡`i e¨envi, evMaviv 
2|  mvivsk t 1,2,3,6,8 bs| 
    mvigg© t  2,4,6,12,15,24,25 bs| 
3  fvem¤úªmviYt- 1,11,12,13,20 bs| 
4|  Aby‡”Q` iPbv t  19,21,25,28,30,32 bs|  
5|  cÎ/`iLv Í̄/gvbcÎ/cwÎKvq cÖKv‡ki Rb¨ wPwVt c„ôv- (449-468)| 
6| cÖwZ‡e`b cÖYqb/ cÖwZ‡e`b iPbv Kit 11,14,18,22 bs|  
7| cÖeÜ iPbvt 2,3,5,9,11,12,17 bs|  
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                             evwl©K cixÿv 
1| e¨vKiY Ask t evsjv fvlvi kã m¤¢vi, mvay I PwjZ fvlv, YZ¡-weavb I l-Z¡ weavb, 
wj½, Kvj, cyiæl I Kv‡ji wewkó cÖ‡qvM, mgvm, mwÜ, KviK I wefw³, wµqv, wµqvi †kÖwY 
wefvM, k‡ãi wewkó A‡_© cÖ‡qvM| 
2|  mvivsk t (K) wK‡m nq gh©v`v? `vwg Kvco, bv VvKzi `v`vi Kv‡ji Dcvwa‡Z? ....... 
(L) gy‡L A‡b‡KB UvKv AwZ Zz”Q, A_© Ab‡_©i g~j ewjqv _v‡Kb.......... 
(M) AZxZ‡K fz‡j hvI, AwZ‡Zi `ywðšÍvi fvi AZxZ‡KB............ 
(M) Af¨vm fqvbK wRwbm| G‡K nVvr ¯^fve †_‡K Zz‡j............ 
(N) Rxeb e„‡ÿi kvLvq †h dzj †dv‡U ZvB gbyl¨Z¡................. 
 mvigg© t  (K) wecyj G c„w_exi KZUzKz Rvwb.....(L) gwi‡Z Pvwnbv Avwg my›`i fze‡b... 
(M) wb›`y‡K‡i evwm Avwg mevi †P‡q fvj, hyM Rb‡gi....   (N) gnvÁvbx gnvRb †h c‡_ 
K‡i Mgb n‡q‡Qb cÖvZ:.... (O) cv‡c-cy‡Y¨ `yt‡L – my‡L cZ‡b – DÌv‡b, ......... 
3  fvem¤úªmviYt- 7,8,10,15,20,24,32 bs| 
4|  Aby‡”Q` iPbv t 2,37,46,50,63,73 bs| 
5|  cÎ wjLt   ‡gav hvPvB I Aa© evwl©K cixÿv cybiv‡jvPjv| 
6| cÖwZ‡e`b cÖYqb/ cÖwZ‡e`b iPbv Kit  ‡gav hvPvB I Aa© evwl©K cixÿv cybiv‡jvPjv| 
6. cÖeÜ iPbv t ¯^‡`k †cÖg, Kw¤úDUvi, gvbe Kj¨v‡Y weÁvb, wkóvPvi,  
Avgvi Rxe‡bi jÿ¨, ‡cvkvK wkí I evsjv‡`k|  

 
English First Paper-100 

Marks & Test Item Distribution  
SBA + Tutorial + Terminal Exam ( 15 + 10 + 100 )= 125-20%=100  

Part -A  Reading Test (50 Marks) 

#Seen passage →Questions (1-3) 
1. MCQ                                                   1×07=07                              
2. Answering Questions           2×05=10                                                                   
3. Gap filling - without clues           1×05=05   
Unseen passage →Questions 4-5 
4. Information transfer             1×05=05                                                    
5. Summarizing              10 
6. Matching sentence parts           1×05=05 
7. Rearranging sentences           1×08=08                                
Part –B  Writing Test (50 Marks) 
8. Writing Paragraph by Answering Questions     10                                                                                    
9. Completing story            10 
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10. Describing graphs/charts                          10 
11. Writing Informal letters/email                                                      10 
12. Dialogue writing                                                         10 
                                            Total = 100  

Merit Test 
English For Today:- Unit 1- 4  
Paragraph: a) Traffic jam  b) A Tea stall   c) Your school Magazine. 
Completing story: (a)  Failure is the pillar of success. 
(b) Where there is a will there is a way. 
Informal letter:  (a) A letter to your younger brother describing the 
importance of learning english.  (b) A letter to your brother advising 
him to be attentive to his study. 
Graphs/Charts: Class Standard 
Dialogue: (a) A dialogue between you and your friend regarding your 
future plan.  (b) A dialogue between you and your friend about the 
importance of reading news paper. 

Half yearly Exam 
English For Today:- Unit 5-8  
Paragraph:  a) A Book fair  b) Early rising,   c) Deforestation.   
Completing story:  (a) Dress does not make a man great., 
(b) Who will bell the cat.,    (c) A spider inspires a king.  
Informal letter/E-mail: (a) A letter to your frind inviting him to join a 
picnic.  (b) A letter to your friend describing the bad effect of smoking. 
Graphs/Charts: Class Standard 
Dialogue: (a) A dialogue between you and doctor about your helth 
condition.  (b) A dialogue between you and your friend about your 
preparation for the S.S.C examination. 
And revision of merit Test examination. 

Yearly Exam 
English For Today:- Unit  9-14  
Paragraph: (a) A Rainy day  (b) Load shedding  (c) A day labourer 
(d) A winter morning  (e) Our national Flag 
Completing story:   (a) Devotion to mother  (b) Honesty is the best 
policy.  (c) Slow and steady wins the race  (d) A foolish crow and 
clever fox.  (e) A friend in need is a friend indeed. 
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Informal letter: (a) Write a letter to your younger brother giving him 
some hints how to improve his proficiency in English. 
(b) Write a letter to your friend descriving your visit to a historical 
palace.  (c) A letter to your friend describing the accident you have 
witnessed. (d) A letter to your friend describing how you want to spend 
your summer vacation. 
Graphs/Charts: Class Standard 
Dialogue: (a) A dialogue between you and your friend about the 
necceity of tree plantation. (b) A dialogue between you and a manager 
of a bank about opening a bank account.  (c) A dialogue between you 
and your friend about the necessity of learning English. (d) A dialogue 
between you and your friend about the importance of physical Exarcise. 

 
 

English Second Paper-100 
Marks & Test Item Distribution  
SBA + Tutorial + Terminal Exam ( 15 + 10 + 100 )= 125-20%=100  
Part - A  Grammar (60 marks) 
1. Gap filling with clues       1×5=5                                                          
2. Gap filling without  clues       1×5=5 
3. Substitution table        1×5=5                                                                          
4. Using right form of  verbs            0.5×10=5 
5. Narrative Style                                                                     1×5=5 
6. Changing sentences                        1×10=10 
7. Completing sentences                                                          1×5=5 
8. Use of  suffixes & prefixes             0.5×10=5 
9. Tag Questions                                                                      1×5=5 
10. Sentence Connector                                                           1×5=5      
11. Capitalization & Punctuation                                            1×5=5 
Part –B Composition (40 Marks) 
12. Writing CV with cover letter                                                     8 
13. Writing formal letters/email                                                    10 
14. Writing Paragraph              10 
14. Writing Composition               12 
           Total = 100                         
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Merit Test 
Grammar: Parts of Speech, Articles, Preposition,  Use of write forms 
of verbs, Speech/Narration (Narrative style, direct to indirect and/or 
vice versa) The sentences, Conversion of , Sentence, Transformation of 
sentences, Change of Voice, Sentence patternt, Degrees, Completing 
Sentences (using conditionals, infinitive, gerund, participle), Use of 
suffix and prefix, Tag questions, Sentence connectors, Punctuation. 
C V :  Class standard                   
Formal letters/Email: (a) Write an application to your Headmaster of 
seeking his permission to go on a study tour.  (b) Write an E-mail to 
your mother about your hostel life.  (c) Write an application to your 
Headmaster for T.C.             
Paragraph:  Tree plantation, Mobile Phone , A rickshaw puller. 
Composition : My childhood Memories,  Physical exercise,                 
Future plan.  

Half yearly Exam 
Grammar: Parts of Speech, Articles, Preposition,  Use of write forms 
of verbs, Speech/Narration (Narrative style, direct to indirect and/or 
vice versa) The sentences, Conversion of , Sentence, Transformation of 
sentences, Change of Voice, Sentence patternt, Degrees, Completing 
Sentences (using conditionals, infinitive, gerund, participle), Use of 
suffix and prefix, Tag questions, Sentence connectors, Punctuation. 
C V :  Class standard                                 
Formal  letters /Email: (a) Write an application to your Headmaster 
for full free student ship.  (b) Write an application to your Headmaster 
for setting up a computer club/debating club.  (c) Write an e-mail to DC 
of your distric form relief for the flood affected people.          
Paragraph :  3,8,9,12,17 No. 
Composition :  The game you like most, Science in every day life. 
And revision of Merit Test examination. 

 
Yearly Exam 

Grammar:  Parts of Speech, Articles, Preposition,  Use of write forms 
of verbs, Speech/Narration (Narrative style, direct to indirect and/or 
vice versa) The sentences, Conversion of , Sentence, Transformation of 
sentences, Change of Voice, Sentence patternt, Degrees, Completing 



 7

Sentences (using conditionals, infinitive, gerund, participle), Use of 
suffix and prefix, Tag questions, Sentence connectors, Punctuation. 
C V :  Class standard                                 
Formal  letters/Email : (a) Write an application to your Headmaster 
for setting up a canteen (b) Write an application to your Headmaster for 
a testimonial retiting your character and other activities during study in 
this school. (c) Write an application to your Headmaster to organize a 
literary club.  (d) Write an application to your Headmaster for setting up 
a computer club/debating club.  (e) Write an e-mail to your friend 
describing the foods and habits in Bangladesh. (f) Write an E-mail to 
your father foe sending you some money.           
Paragraph : (a) Environment pollution (b) visit to a book fair  (c) The 
international mother language day  (d) Load shedding. 
Composition: The Season you like most,  A journey by boat,  
A village market, Duties of a Student. 
             

MwYZ -100 
gvbe›Ub I cÖ‡kœi aviv 
SBA + Tutorial + Terminal Exam ( 15 + 10 + 100 )= 125-20%=100  
* m„Rbkxj cÖ‡kœi Rb¨ 70 b¤^i &Ges eûwb©evPwb cÖ‡kœi Rb¨ 30b¤^i eivÏ Av‡Q| 
*.cÖwZwU m„Rbkxj cÖ‡kœi b¤^i 10 Ges cÖwZ eûwb©evPwb cÖ‡kœi b¤^i 1 | 
* exR MwYZ Ask †_‡K 3wU, R¨vwgwZ Ask †_‡K 3wU, wÎ‡KvYwgwZ I cwiwgwZ Ask †_‡K 
3wU Ges cwimsL¨vb Ask †_‡K 2wU K‡i †gvU 11wU cÖkœ _vK‡e| exR MwYZ Ask †_‡K 2wU, 
R¨vwgwZ Ask †_‡K 2wU, wÎ‡KvYwgwZ I cwiwgwZ Ask †_‡K 2wU Ges cwimsL¨vb Ask †_‡K 
1wU K‡i †gvU 7wU cÖ‡kœi DËi w`‡Z n‡e| 

‡gav hvPvB cixÿv 
exR MwYZ   t  Abykxjbx: 1,3.1,3.2,4.1,4.2 
R¨vwgwZ     t  Dccv`¨ : 8g Aa¨vq (e„Ë msµvšÍ) 1,2,3,4   wÎfzR msµvšÍ- 5,6,8 
                m¤úv`¨ : wÎfzR msµvš¿- 1,2,3 
                AwZwi³ : Dccv`¨ : Aby : 8.1, 6.3 (5-12)  m¤úv`¨ : Aby: 7.1     
wÎ‡KvbwgwZ t 9g Aa¨vq (Abyt 9.1) 
cwiwgwZ     t 16k Aa¨vq (Abyt 16.1) 
cwimsL¨vb  t 17k Aa¨vq Abyt 17Gi (1-15) Ges mswkøó D`vniY 

Aa©evwl©K cixÿv 
exR MwYZ   t Abykxjbx: 2.1, 3.2, 3.3, 5.1, 11.1, 12.1, 12.2| 
R¨vwgwZ     t  Dccv`¨- e„Ë msµvšÍ: 4,5,6  wÎfzR msµvšÍ: 5,8,13 
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m¤úv`¨: PZzf©yR msµvšÍ- 4,5 D`vt 1  e„Ë msµvšÍ t 1,2,3,4,5,6  
AwZwi³:  Dccv`¨- Abykxjbx- 8.2, 6.3 Gi (12-17) m¤úv`¨- 7.2| 
wÎ‡KvbwgwZ t 9g Aa¨vq  (Abyt 9.1) 
cwiwgwZ     t 16k Aa¨vq (Abyt 16.2) Ges mswkøó D`vniY| 
cwimsL¨vb  t 17k Aa¨vq Abyt 17(mKj D`vniYmn)  

evwl©K cixÿv 
exR MwYZ   t Abykxjbx: 2.2, 3.4, 4.1, 4.2, 11.1, 11.2, 13.1| 
R¨vwgwZ     t  Dccv`¨- e„Ë msµvšÍ: 1,2,3,7,8,9  wÎfzR msµvšÍ: 8,13,15| 
m¤úv`¨: wÎfzR msµvšÍ- 1,2,3   e„Ë msµvšÍ t 1,2,3,4,5,6  
AwZwi³:  Dccv`¨- Abykxjbx- 8.2, 6.3 Gi (17-21), m¤úv`¨- 7.1, 8.5(5-10)| 
wÎ‡KvbwgwZ t 9g Aa¨vq  (Abyt 9.2) 
cwiwgwZ     t 16k Aa¨vq (Abyt 16.3) Ges mswkøó D`vniY| 
cwimsL¨vb  t 17k Aa¨vq Abyt 17 me| 
 

mvaviY weÁvb-100 
 gvbe›Ub I cÖ‡kœi aviv 
SBA + Tutorial + Terminal Exam ( 15 + 10 + 100 )= 125-20%=100  
* m„Rbkxj cÖ‡kœi Rb¨ 70 b¤^i &Ges eûwb©evPwb cÖ‡kœi Rb¨ 30b¤^i eivÏ Av‡Q| 
*.cÖwZwU m„Rbkxi cÖ‡kœi b¤^i 10 Ges cÖwZ eûwb©evPwb cÖ‡kœi b¤^i 1 | 
* 11wU cÖkœ _vK‡e 7wU cÖ‡kœi DËi w`‡Z n‡e| 

‡gav hvPvB cixÿv  t-   Aa¨vqt 1,2,3,4| 
Aa©evwl©K cixÿv    t-   Aa¨vqt 5,6,7,8| 

 evwl©K cixÿv      t-   Aa¨vqt  9,10,11,12| 

 
Bmjvg I ˆbwZK wkÿv-100 

 gvbe›Ub I cÖ‡kœi aviv 
SBA  +  wUD‡Uvwiqvj   +  mvgwqK   cixÿv    ( 30 + 20 + 100 )  =  150  
* m„Rbkxj cÖ‡kœi Rb¨ 70 b¤^i &Ges eûwb©evPwb cÖ‡kœi Rb¨ 30b¤^i eivÏ Av‡Q| 
*.cÖwZwU m„Rbkxi cÖ‡kœi b¤^i 10 Ges cÖwZ eûwb©evPwb cÖ‡kœi b¤^i 1 | 
* 11wU cÖkœ _vK‡e 7wU cÖ‡kœi DËi w`‡Z n‡e| 

‡gavhvPvB cixÿv t 1gAa¨vqt cvV (1-5), 2q Aa¨vq tcvV (1-5),  

3q Aa¨vq t cvV (1-7), 4_©  Aa¨vqt cvV (1-8)  
5g Aa¨vqt(Av`k© Rxeb PwiZ) tcvV (1-3) | 
Aa©evwl©K cixÿv t 1g Aa¨vqt cvV (6-10)  2q Aa¨vq tcvV (5-10)  
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3q Aa¨vq t cvV (8-15) 4_©  Aa¨vqt cvV (8-16)  
5g Aa¨vqt(Av`k© Rxeb PwiZ)t tcvV (3-7)  

evwl©K cixÿv t  1g Aa¨vqt cvV (1-12) 2q Aa¨vq tcvV (1-12)  
3q Aa¨vq t cvV (1-12) 4_©  Aa¨vq t cvV (1-12)  
5g Aa¨vqt(Av`k© Rxeb PwiZ)t tcvV (1-12) 
                          

 Z_¨ I †hvMv‡hvM cÖhyw³ -50 
 gvbe›Ub I cÖ‡kœi aviv 
eûwbe©vPwb cÖkœ-25b¤^i: 25wU cÖkœ _vK‡e 25wUi DËi w`‡Z n‡e| 
e¨envwiK -25 

‡gavhvPvB cixÿv t  1g Aa¨vq , 2q Aa¨vq |  

Aa©evwl©K cixÿv  t 3q Aa¨vq, 4_©  Aa¨vq  

evwl©K cixÿv      t 5g Aa¨vq , 6ô Aa¨vq|  

 
K¨vwiqvi wkÿv -50 

 gvbe›Ub I cÖ‡kœi aviv 
eûwbe©vPwb cÖkœ-25b¤^i: 25wU cÖkœ _vK‡e 25wUi DËi w`‡Z n‡e| 
e¨envwiK -25 

‡gavhvPvB cixÿv t  1g Aa¨vq , 2q Aa¨vq|  

Aa©evwl©K cixÿv  t 3q Aa¨vq, 4_©  Aa¨vq  

evwl©K cixÿv      t 1g Aa¨vq , 2q Aa¨vq, 3q Aa¨vq 4_©  Aa¨vq| 

 
‡cŠibxwZ-100 

SBA + Tutorial + Terminal Exam ( 15 + 10 + 100 )= 125-20%=100  
* m„Rbkxj cÖ‡kœi Rb¨ 70 b¤^i &Ges eûwb©evPwb cÖ‡kœi Rb¨ 30b¤^i eivÏ Av‡Q| 
*.cÖwZwU m„Rbkxi cÖ‡kœi b¤^i 10 Ges cÖwZ eûwb©evPwb cÖ‡kœi b¤^i 1 | 
* 11wU cÖkœ _vK‡e 7wU cÖ‡kœi DËi w`‡Z n‡e| 

‡gav hvPvB cixÿv  t-   Aa¨vqt 1,2,3,4| 
Aa©evwl©K cixÿv    t-   Aa¨vqt 5,6,7,8| 
 evwl©K cixÿv       t-   Aa¨vqt  9,10,11,12| 
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BwZnvm-100 
SBA + Tutorial + Terminal Exam (15 + 10 + 100 )= 125-20%=100  
* m„Rbkxj cÖ‡kœi Rb¨ 70 b¤^i &Ges eûwb©evPwb cÖ‡kœi Rb¨ 30b¤^i eivÏ Av‡Q| 
*.cÖwZwU m„Rbkxi cÖ‡kœi b¤^i 10 Ges cÖwZ eûwb©evPwb cÖ‡kœi b¤^i 1 | 
* 11wU cÖkœ _vK‡e 7wU cÖ‡kœi DËi w`‡Z n‡e| 

‡gav hvPvB cixÿv  t-   Aa¨vqt 1,3,5,7,8| 
Aa©evwl©K cixÿv    t-   Aa¨vqt 2,4,6,9,10,| 

 evwl©K cixÿv      t-   Aa¨vqt  5,7,8,11,12| 

 
fz‡Mvj-100 

SBA + Tutorial + Terminal Exam ( 15 + 10 + 100 )= 125-20%=100  
* m„Rbkxj cÖ‡kœi Rb¨ 70 b¤^i &Ges eûwb©evPwb cÖ‡kœi Rb¨ 30b¤^i eivÏ Av‡Q| 
*.cÖwZwU m„Rbkxi cÖ‡kœi b¤^i 10 Ges cÖwZ eûwb©evPwb cÖ‡kœi b¤^i 1 | 
* 11wU cÖkœ _vK‡e 7wU cÖ‡kœi DËi w`‡Z n‡e| 

‡gav hvPvB cixÿv  t-   Aa¨vqt 1,3,5,7,8| 
Aa©evwl©K cixÿv    t-   Aa¨vqt 2,4,6,9,10,| 

 evwl©K cixÿv      t-   Aa¨vqt  5,7,8,11,12| 

 
wdb¨vÝ GÛ e¨vswKs-100 

gvbe›Ub I cÖ‡kœi aviv 
SBA + Tutorial + Terminal Exam ( 15 + 10 + 100 )= 125-20%=100  
* m„Rbkxj cÖ‡kœi Rb¨ 70 b¤^i &Ges eûwb©evPwb cÖ‡kœi Rb¨ 30b¤^i eivÏ Av‡Q| 
*.cÖwZwU m„Rbkxi cÖ‡kœi b¤^i 10 Ges cÖwZ eûwb©evPwb cÖ‡kœi b¤^i 1 | 
* wdb¨vÝ Ask n‡Z 6wU Ges e¨vswKs Ask †Z 5wU mn †gvU 11wU cÖkœ _vK‡e| wdb¨vÝ Ask 
‡_‡K b~bZg 3wU Ges e¨vswKs Ask †_‡K b~b¨Zg 3wU cÖkœmn †gvU 7wU cÖ‡kœi DËi w`‡Z 
n‡e| 

‡gav hvPvB cixÿv  t  Aa¨vqt 1,2,8,9| 
Aa©evwl©K cixÿv    t  Aa¨vqt 4,7, 10| Ges †gavhvPvB cixÿvi cybiv‡jvPbv 

 evwl©K cixÿv      t  Aa¨vqt  2,5,6,11,12,13| 
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wnmve weÁvb-100 
gvbe›Ub I cÖ‡kœi aviv 
SBA + Tutorial + Terminal Exam ( 15 + 10 + 100 )= 125-20%=100  
* m„Rbkxj cÖ‡kœi Rb¨ 70 b¤^i &Ges eûwb©evPwb cÖ‡kœi Rb¨ 30b¤^i eivÏ Av‡Q| 
*.cÖwZwU m„Rbkxi cÖ‡kœi b¤^i 10 Ges cÖwZ eûwb©evPwb cÖ‡kœi b¤^i 1 | 
* K -As‡k 2 A¼ _vK‡e Ges L- As‡k 9wU cÖkœ _vK‡e| K-As‡ki 2wU eva¨Zvg~jK Ges 
L-Ask n‡Z 5wU cÖkœmn †gvU 7wU cÖ‡kœi DËi w`‡Z n‡e| 

‡gav hvPvB cixÿv t  Aa¨vq: K -Ask-7,9 Ges L-Ask-1,2,3,4,6|    
Aa©evwl©K cixÿv   t  Aa¨vq: K -Ask-7,9 Ges L-Ask-1,2,3,4,5,6|  

evwl©K cixÿv     t  Aa¨vq: K -Ask-10g Ges L-Ask-2,5,6,7,8,9| 
 

e¨emvq D‡`¨vM-100 
gvbe›Ub I cÖ‡kœi aviv 
SBA + Tutorial + Terminal Exam ( 15 + 10 + 100 )= 125-20%=100  
* m„Rbkxj cÖ‡kœi Rb¨ 70 b¤^i &Ges eûwb©evPwb cÖ‡kœi Rb¨ 30b¤^i eivÏ Av‡Q| 
*.cÖwZwU m„Rbkxi cÖ‡kœi b¤^i 10 Ges cÖwZ eûwb©evPwb cÖ‡kœi b¤^i 1 | 
* 11wU cÖkœ _vK‡e 7wU cÖ‡kœi DËi w`‡Z n‡e| 

‡gav hvPvB cixÿv  t-   Aa¨vqt 1,2,3, 4| 
Aa©evwl©K cixÿv    t-   Aa¨vqt 5, 6, 7, 8| 

 evwl©K cixÿv      t-   Aa¨vqt 9,10,11,12| 

 

kvixwiK wkÿv, ¯^v¯’¨ weÁvb I †Ljvayjv-100 
  gvbe›Ub I cÖ‡kœi aviv 
ZË¡xq Ask 75b¤^i+ e¨envwiK Ask 25b¤^i= †gvU 100b¤^i| m„Rbkxj cÖ‡kœi Rb¨ 50 
b¤^i Ges eûwb©evPwb cÖ‡kœi Rb¨ 25 b¤^i eivÏ Av‡Q| kvixwiK wkÿv n‡Z 3wU, ¯^¯’¨weÁvb 
n‡Z 4wU Ges †Ljvayjv Ask n‡Z 1wU K‡i †gvU 8wU cÖkœ _vK‡e| cÖ‡Z¨K Ask n‡Z b~¨bZg 
1wU K‡i †gvU 5wU cÖ‡kœi DËi w`‡Z n‡e| cÖwZwU m„Rbkxj cÖ‡kœi b¤^i 10| 
25wU eûwbe©vPwb cÖkœ _vK‡e meKwUi DËi w`‡Z n‡e| e¨envwiK Ask-25| 
‡gavhvPvB cixÿvt K -wefvM (kvixwiK wkÿv) t (Aa¨vq-1g)       
L- wefvM (¯^v¯’̈  weÁvbt (Aa¨vq-4_©)     M- wefvM (†Ljvayjv)t (Aa¨vq-8g)        
Aa©evwl©K cixÿvt- K -wefvM (kvixwiK wkÿv)t (Aa¨vq-1g)       
L- wefvM (¯^v ’̄¨ weÁvbt (Aa¨vq-4_©,5g)   M- wefvM (†Ljvayjv)t (Aa¨vq-8g)        
evwl©K cixÿvt-  K -wefvM (kvixwiK wkÿv)t (Aa¨vq-2q)       
L- wefvM (¯^v ’̄¨ weÁvbt (Aa¨vq-6ô)    M- wefvM (†Ljvayjv)t (Aa¨vq-10g)        
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K…wl wkÿv- 100 

gvbe›Ub I cÖ‡kœi aviv 
SBA + Tutorial + Terminal Exam ( 15 + 10 + 100 )= 125-20%=100  
*m„Rbkxj cÖ‡kœi Rb¨ 50 b¤̂i &Ges eûwb©evPwb cÖ‡kœi Rb¨ 25 b¤î Ges e¨envwiK 25b¤̂i| 
*.cÖwZwU m„Rbkxi cÖ‡kœi b¤^i 10 Ges cÖwZ eûwb©evPwb cÖ‡kœi b¤^i- 1 | 
* 8wU cÖkœ _vK‡e 5 wU cÖ‡kœi DËi w`‡Z n‡e| 
* e¨envwiK-(GKwU cixÿY -15+e¨vL¨vmn djvdj Dc ’̄vcb-5+‡gŠwLK-5) 

‡gavhvPvB cixÿvtÑ 1g Aa¨vq: cwi‡”Q`-1,2   
                        2q Aa¨vq: cwi‡”Q`- 1,2,3                                            
                        3q Aa¨vq: cwi‡”Q`- 1,2,3    
                        4_© Aa¨vq: cwi‡”Q`-1,2,3,4  
 
Aa©evwl©K cixÿvt-  5g Aa¨vq: cwi‡”Q`-1,2,3    
                        6ô Aa¨vq: cwi‡”Q`-1      
                       7g Aa¨vq: cwi‡”Q`- 1 Ges †gavhvPvB cixÿvi                       
                        cybiv‡jvPbv| 

evwl©K cixÿvt    1g Aa¨vq: cwi‡”Q`- 3,4,5     
                      2q Aa¨vq: cwi‡”Q`-4,5,6                                              
                      3q Aa¨vq: cwi‡”Q`- 4,5,6,     
                      4_© Aa¨vq: cwi‡”Q`-5,6,7 
                      5g Aa¨vq: cwi‡”Q`- 4,5         
                      6ô Aa¨vq: cwi‡”Q`-2 
                      7g Aa¨vq: cwi‡”Q`-2 




